N = 0l & AF & F Al A

2A: S22
HH: RIM=TE (2L 22/25H0 =)

9 2AE 29 U A CLE-ED
S E O (EH) - MBAIY - B Of o e Hl R =2
a2t 13,255,107 12,951,234 303,873

= 801,404
s 574,000
J| 9,324
& 1,077,446
= 475,000
im) 61,000
Al 10,256,933
S s E (2L /230 =) 6,129,897 6,052,251 77,646
= 100,404
s 500,000
& 560,702
i 61,000
Al 4,907,791
ZoAE 28 L HE 4,541,569 5,116,041 A574,472
s 500,000
& 500,000
Al 3,541,569
ZoTAl & ZSHAE2IXA 180,730 106,041 74,689
201 Lt 18,570 62,861 AN44,291
01 At 2eld] 8,570 37,250 A28,680
O1.d8t==ZH| 5,000
-t A=A 2te B M 5,000,000 5,000
03.2g8=Y 3,570
- TRSEAEE, FHENERAES &4
=g 70,0003 x29H *13| 2,030
HEEASHYNATAS HALT
70,0003 x11H *23| 1,540
03 &A2gH 10,000 900 9,100
O&stA MIOILE JH = 10,000, 000& 10,000
202 O4Hl 2,160 1,080 1,080
01 =Wobl 2,160 1,080 1,080
OZSE Al A A=Y
60,0003 »3H 3 x43] 2,160
307 gQlz2told 150,000 32,000 118,000




A 23220
. 2o =dE (2L 22/250 =)
o9 2HAIS 29 2 AY CLEE)
SA - EH .S (BH) - MBAY - B Ofl A o4 gggf; HRS2
05 oIt 150,000 30,000 120,000
OIS AIAL 22 2 EHY| 150,000, 000& 150,000
401 A&EHILE00H] 10,000 0 10,000
01 Al&H] 10,000 0 10,000
Sollt LAY HiZ=AIE EXIZ2A
10,000, 0003 * 1A 10,000
AZHE U MAIZ HE(EX) 2,200,000 1,702,450 497,550
rag 500,000
== 500,000
Al 1,200,000
401 AlZHIZLE204Y] 2,200,000 1,701,750 498,250
g 500,000
= 500,000
Al 1,200,000
01 Al&H| 2,139,866 1,698,000 441,866
OABAT U HAIZ ALBA
2,139,866,000& * 14! 2,139,866
iy 500,000
o= 500,000
Al 1,139,866
02 22l 52,430 0 52,430
OASHE L A2 HESAF 22lbl
4,900,000,000& %1.07/100 52,430
03 A2y 7,704 3,750 3,954
OAasHE L A2 HESAH AIE 2]
2,139,866,000& *0.36/100 7,704
Ze(ls=2 HE 2,130,839 1,965,400 165,439
401 AlEZHIZLE204Y] 2,130,839 1,965,400 165,439
01 Al&H] 1,952,808 1,500,000 452,808
OZE0lsa HE SAl
1,952,808,000& * 14! 1,952,808
02 Zeldl 171,000 460,000 A 289,000
OXstll=2 HE S A 22l
171,000,000 * 14| 171,000
03 A& 7,031 5,400 1,631
OZ&0s& HEBAF AID20YI
1,952,808,000& *0.36/100 7,031




A 221
FH: 2sosds (2 22/280=)
el 2AE 2Y 2 HE (9 &d)
= o e
SN HRA(EA) - NRAY - BES Off 4k 04 Ofl At ot HluSZ
HE2sHEg 2 &4 30,000 0 30,000
207 S OHEH 30,000 0 30,000
01 2S4Sl 30,000 0 30,000
OlS=stME2 88 S ZASY
30,000,000 *14] 30,000
Ztllses 1,588,328 936,210 652,118
= 100,404
= 60,702
imi 61,000
Al 1,366,222
E0l=A X MR 1,320,120 714,840 605,280
iml 30,000
Al 1,290,120
201 Bt 77,460 13,980 63,480
01 AtR2teld 25,460 13,980 11,480
O1. 2824 13,000
~23l0ls BAZY L2
5,000,000& 5,000
-Zeiles 2d EE22 =Y 3,000,000& 3,000
DILHAL 2 228 A
5,000,000& 5,000
03.2g8=+¢ 6,300
-EEA DSEA Mofas Basd
70,0003 x8H x53] 2,800
- RS FAAVS HAH Y
70,0002 x50H %12 3,500
O5. =&l 6,160

7,0003 ~4F x10 «12E 3,360

7,000 x200% x24] 2,800
02 BB 2,000 0 2,000
O1.Z2232HAl 2,000
US| SRS W 2WE
40021 %5,0005 2,000
03 A2 50,000 0 50,000

0,000,000 * 14! 10,000




Eetar2 it
S E (2L 2Z/25H02)
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_ _ HE T
SA - EHM SR (BH) - MRAMY - BES arol 0l ot o HDS2
Ongsl 22=sHHl BA2 S|
40,000,000& 40,000
202 (ddl 4,860 4,860 0
01 =LAl 4,860 4,860 0
O2zlz YRFT0HI
60,000 x3& 3 x93 4,860
301 et2d= 67,600 0 67,600
10 AIAHIE& = 60,500 0 60,500
ORMgsl Y23t SE=Ctel)| HdAS
O 2HA 3,000& 400 23| 2,400
OLE23tM XHSALA 24
7,000& «100 5 3,500
OZRI0I=XI UG AME &It
60,0002 x15H «2 1,800
OHE A FIF 3l
800,000& »335 26,400
OYBSHA JHEHY &I B
800,000& *335 26,400
12 JIEt2 43 7,100 0 7,100
ONlgs] LFLBH ZAE, Tof 22
o= 3,100
-2 1,100
T E R 500,000& =1 500
TR 300,000& »2H 600
-ZAH 2,000
TR R 1,000,000& =1 1,000
TR 500,000& »2H 1,000
OLEEZ=HM JtEdE 2+ Alds 4,000
&R 2,000, 000% * 14 2 2,000
- 1,000,000& * 104 A& 1,000
-&ofa 500,000& *204 2 1,000
307 gI2tol& 1,150,200 686,000 464,200
im) 30,000
Al 1,120,200
02 gltFateEx 460,200 213,000 247,200
OXE 23t ArHI(01) 60,000,000& 60,000




=4 2sEB
HH: 2IM=TE(2SL22/25H0=)
tel: 2eilses (cro|: ® e
- _ _ N e
SA - BB ER(3) - MBAY - BAS 0f & 04 e HInE
imi 30,000
Al 30,000
OXLE=Zstd A4 22l 197,000, 000& 197,000
OXSANxzTUs 29 10,000,000& 10,000
OZsttll=es XA B 25,000,000 25,000
O=% NAHANH 2EEAS 3,000, 000& 3,000
OX&R8H30&, 315) &2tdl 22
5,000,000& *23| 10,000
OEHED SEUH A2 7Y
650,000 «8=¢ 5,200
OXNgE:s ¢35 MEH XA 150,000, 000& 150,000
04 QIZHHAIE X 671,000 454,000 217,000
OHNigal LE=23HA 180,000, 000& 180,000
OBET B4 100X J|HE2 K|
20,000, 000& 20,000
OZEgABE et dS=H 20,000, 000& 20,000
OHM32 Z2=235tHAl 20,000,000& 20,000
OAIRIE0tE =M 20,000,000 20,000
O&EALE FAI I Z3RE A
9,000,000 9,000
OS24 NMEEXZ(2E0IEH)
5,000,000& 5,000
OHMl4g cHE ISR 30,000, 000& 30,000
OHM4zgl 2 240l=UA 40,000, 000& 40,000
OXLg stHEES 2ME 20,000,000& 20,000
OMI9gl ZEStHICH= M A=A 90,000, 000& 90,000
OHN32 Z&=aHMEHAEY 10,000, 000& 10,000
OHMI3al ZEtoiHIIA 20,000,000& 20,000
OgELN = 5,000,000 5,000
02009 Al2l el A+ 30,000,000& 30,000
02009 & LS 20,000,000& 20,000
OABIIH 20,000, 000& 20,000
OZRg &M ZS&HE S2H 30,000, 000& 30,000
OgeMUH 5,000, 000& 5,000
OHM10=2 Z£& OlE HIAEIY 10,000, 000& 10,000
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SN 2522
H: 20 =TE (2L HZ/250=)
& 23 0sss (982
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
O3NEE ZESZAUS 7,000,000& 7,000
Oz4E 28 HAEY 20,000,000 20,000
OESSIGEPY 20,000,000 20,000
OHMI163 S0l0=H 15,000, 000 15,000
OgINEEE HSSHA HE
5,000,000 x1A! 5,000
05 QI2HRIEZ 19,000 19,000 0
OESHELE AY 19,000
-Solgn 5,000,000 5,000
-JIEtE D 3,500,000 40K & 1 14,000
308 XIXISHSOIE 5,000 5,000 0
06 WEKIZHHSEEXS 5,000 5,000 0
Ods23ize 84 5,000
~ZOoHAEZESSE) 5,000,000 5,000
402 QIZHXH=0|H 15,000 5,000 10,000
01 DIZtXEEX 15,000 5,000 10,000
ous M= 15,000,000 15,000
CAAS2EX A 28,000 28,000 0
iml 18,000
Al 10,000
307 gQI2t0|A 8,000 0 8,000
iml 8,000
02 CI2HAAEX 8,000 0 8,000
OAMEE2DIUN2 UK (0]2)
10,0002 *800A 8,000
mi 8,000
308 XIXISHSOIE 20,000 20,000 0
iml 10,000
Al 10,000
06 WEI|20UetEES 20,000 20,000 0
OZAZZE N2 SHIU(01L)
10,0002 2,000~ 20,000
im] 10,000
Al 10,000
ZoAUA ENRYE XNH(EX) 120,808 68,970 51,838




2AM: 2otz
HH: 2IM=TE(2SL22/25H0=)
& Rat=as
S - HB O (B) - HRAY - AR Aol e
SZA2LAN EEMEE N = 60,404
& 30,202
Al 30,202
307 glz2told 120,808 68,970
= 60,404
& 30,202
Al 30,202
02 QrFaE X 120,808 68,970
O=24Z0F =2 ALK& AS 120,808, 000& 120,808
= 60,404
= 30,202
Al 30,202
Y 2stlznsHE XNJAG(EX) 80,000 80,000
= 40,000
& 20,000
Al 20,000
307 glz2told 80,000 80,000
= 40,000
& 20,000
Al 20,000
05 BIZIRIEZ 80,000 80,000
OXNEzattlznsX6dH X3
80,000, 000& 80,000
= 40,000
= 20,000
Al 20,000
Egud 2I(EX) 5,000 5,000
& 2,500
Al 2,500
307 giz2told 5,000 5,000
& 2,500
Al 2,500
02 BIZHEANEX 5,000 5,000
OS&ua23| 5,000,000 5,000
= 2,500
Al 2,500




2AM: 2otz

HH: R0 E (2L 2E/25H0=)

& Rat=as (cro =2l
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
ety 2H(BX) 18,000 18,000 0

& 3,000
w 9,000
Al 6,000
307 2IZ2t0lA 18,000 18,000 0
& 3,000
imi 9,000
Al 6,000
02 BSltF&E=X 18,000 18,000 0
O=3tstn 2ZXAHI(01Y)
6,000,000 *3H 2 18,000
= 3,000
imi 9,000
Al 6,000
SNRIHESEH(EX) 10,400 10,400 0
& 2,000
mi 4,000
Al 4,400
307 giz2told 10,400 10,400 0
& 2,000
ml 4,000
Al 4,400
05 GIZtREZ 10,400 10,400 0
O WIIZATE XA (012)
2,600,000& *4 04 A 10,400
& 2,000
w 4,000
Al 4,400
SIS EME 2F(BEX) 6,000 0 6,000
L= 3,000
Al 3,000
308 XXIEHMSO0IE 6,000 0 6,000
& 3,000
Al 3,000
06 WEI|ZUUSEES 6,000 0 6,000
OstuUiti2sM2E4 22|
500,000& 10 2 +12& 6,000
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SN 282
M 2SS (2HLDL/23012)
ool 2oEES CLRE
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
= 3,000
Al 3,000
HESHEELNS(SHLT/25H) 3,016,551 2,951,072 65,479
= 701,000
= 475,220
= 475,000
Al 1,365,331
2o 2E 2 24 2l 2,808,442 2,789,433 14,004
= 701,000
= 475,220
= 475,000
Al 1,152,222
s = 271,047 401,224 ~130,177
101 Q14| 2,640 2,548 92
10 JIZHIZNELS 2,640 2,548 92
OSWFEH ZERHIE
33,5002 22 +3 67} 4 23 2,412
O4HEE JIBRY3 2,412,000% 9. 45% 228
201 er2o| 34,760 34,840 A80
01 AfRaelt] 34,760 34,840 80
O1.2etgY| 27,200
-2 BE22l LuASH 2,000,0008 2,000
N N IVE P TEL 10,0002 *500% 5,000
NEEC I =aEE] 10,0001 *4005 4,000
“2SMKE E44E2 1,000,000 *23| 2,000
gate] RAEUR Y HollBURRY
AME AL 4,000,0002! 4,000
~STRSES AMTA 242
5,000, 0002 13l 5,000
SSELS MIIAMAA £42
100, 00021 %227} 4 18] 2,200
-2E NFMD L NBBD +42
1,500,000 *25] 3,000
03.2g+4 4,200
~2HMEL U BE B IR
SOV BaLY 70,0008 *4% *63] 1,680
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SENLEXNS (2L 2AZ/25)
St 2& ¥ 2+ 2

_ _ MNuE o
A B SR(B0) - HRAIY - BES Aol il b o HRE2
N EEEEEECEFIELEE
70,0002 +324123] 2,520
Os.2H 3,360
2o YRET 2
7,000%! *4% + 102 122 3,360
202 o1t 4,320 3,240 1,080
01 =Lhoit] 4,320 3,240 1,080
OSSMSRET0M 60,0002 =42 32 +63] 4,320
401 Al&EIL=0HY| 129,327 250,596 A121,269
01 AlZH 128,607 248,868 A 120,261
O3 S4TA &lA& ]
130,000, 0002 +7.39/100 9,607
ogax Cel 24 40,000, 0002 * 14} 40,000
OS5 QB &5 30,000, 0002 * 14| 30,000
OSsH &4 ni 900, 0002 #1074 £ 9,000
OS5l £ BSRE XE S 28 24
0,000, 0002 *37H 2 30,000
OZSAl 2T bl FHHY)
0,000, 00024 * 14! 10,000
03 Al& i) 720 1,728 A1,008
OSsH 24 Al&LHH]
100,000,0002 0.72/100 720
402 BRI 100,000 110,000 10,000
01 SIR=EE 100,000 110,000 10,000
OB A RATH 218 100,000, 00024 * 141 100,000
SEREE RS 30,000 50,000 20,000
201 Y| 30,000 0 30,000
01 ArRaelH| 30,000 0 30,000
O1. gt 22| 30,000
-2l=ol ZJBIS 9| 010t Ktz
20,0002 +1,5005* 30,000
2N S 22(SX) 991, 146 1,119,460 A128,314
2 621,000
= 108,300
A 261,846
207 TN HI 32,000 0 32,000
2 16,000




2N 25 2B
HH: NESBEUNS(SHLAT/SH)
ol 2N 2E U 22 22 (29 &)
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 il b o bRz
207 SAPIHLY] = 4,800
Al 11,200
NBEEEET] 32,000 0 32,000
OHBAX =¥ Sa¥Y 6/8IIF(Q) 0t
8 8 8,000,002 14! 8,000
2 4,000
= 1,200
Al 2,800
OYLFIISH =¥ SNHY 58IIF(
RER-E 8,000,002 14! 8,000
2 4,000
= 1,200
Al 2,800
Ograrel BAFURS Hol2IZ L2222
=o HAMT 5BIIFE(Y) O 8Y
8,000,002 14! 8,000
2 4,000
= 1,200
Al 2,800
O2ZA ARIAH FH S4B 518
Z=(9) o 8 8,000,0002 14! 8,000
2 4,000
= 1,200
Al 2,800
401 AlEHILL 0] 379, 146 879,460 A500,314
2 259,000
= 33,300
Al 86,846
01 Al 376,482 874,268 A497,786
Oss2 SHS MASLHALY 76,482
~Al A& A b 70,000,002 %9.26/ 100 6,482
-Al &l 70,000,002 14! 70,000
2 49,000
= 6,300
Al 14,700
OHBAX EXHY 300,000, 00024 #141 300,000
2 210,000
= 27,000
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Zat2-Z
HERFIEZLNES (2L 22 /25H)
ot 2& 2 Ex 22 AR
SN S(B) - NRAY - B2 Aro B =2
0l &
Al 63,000
03 AlZ=0Hd] 2,664 5,192 A2,528
O ME=3 AL AIZ20HYI
370,000,000 *0.72/100 2,664
402 QIZEXE0|M 580,000 240,000 340,000
= 346,000
L= 70,200
Al 163,800
01 QR=Ex 580,000 240,000 340,000
Ozl ZHESSE (A L Y25
) 300,000,000& » 14! 300,000
2 150,000
= 45,000
Al 105,000
OBZMNSESFHAL (UYL ES)
280,000,000 14! 280,000
= 196,000
< 25,200
Al 58,800
HEAMNEEBZTHHAIZ (2HIEX) 160,000 90,000 70,000
= 80,000
L= 40,000
Al 40,000
402 SIZ2HX =0l 160,000 90,000 70,000
= 80,000
= 40,000
Al 40,000
01 QUAR=2EX 160,000 90,000 70,000
OYBIAE S (HENE, QAT SHEE)
200,000, 000& *80% 160,000
= 80,000
= 40,000
Al 40,000
HSEAMEESTHAIS (ZHIEX) 90,000 56,000 34,000
= 45,000
Al 45,000
402 QIEXE01H 90,000 56,000 34,000




M 2522
HM: NESIEELHS (2L 2Z/25H)
Cel: 23 BEE 2 B4 22| (982
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
402 DIZHXHE0| A [ 45,000
Al 45,000
01 RI2tXIE8X 90,000 56,000 34,000
ONSAR L (S HANE)
112,500, 000 *80% 90,000
[= 45,000
Al 45,000
CXNE2FMEL(BX) 311,249 347,167 A35,918
[= 155,000
Al 156,249
401 AlSHI LY 191,249 127,167 64,082
[= 95,000
Al 96,249
01 Al&H] 190,000 126,339 63,661
OULMAE (2t & =HHH|) 100,000
—& Al & AHH| 91,524,000 %9.26/100 8,476
—-Al&H] 91,524,000 * 14! 91,524
[= 50,000
Al 41,524
OYATHAIE 2 (RUAL) 40,000
-2l Al & HH| 36,409,000 «9.86/100 3,590
-Al&H]| 36,410,000 * 1Al 36,410
[= 20,000
Al 16,410
OAS AN (FHBES U A=A3F|) 50,000
-2l Al & HH| 45,512,000 +9.86/100 4,488
-Al&H] 45,512,000 »1 Al 45,512
[= 25,000
Al 20,512
03 Al=204H] 1,249 828 421
ORI HE LAY Al 201
173,445,000 x0.72/100 1,249
402 DIZ2HR=0|A 120,000 220,000 100,000
[= 60,000
Al 60,000




SN 2B
HM: MNESRIZELHS (2L 2Z/235H)
Gl 2RI PE W P2 2 (eH9l: 22
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
01 QUAR=2EX 120,000 220,000 A 100,000
OBAM B4(3loa B4 L 42AHEY)
60,000,000 *14] 60,000
< 30,000
Al 30,000
OMSE DNEE= 60,000,000& » 14! 60,000
< 30,000
Al 30,000
CANE2FMES(BX) 950,000 663,787 286,213
& 126,920
= 475,000
Al 348,080
402 SIZ2HX =0l 950,000 480,000 470,000
& 126,920
= 475,000
Al 348,080
01 QUAR=2EX 950,000 480,000 470,000
OQUAI HEE F=HAHI(XE Y A
EE)Z A 150,000, 000& =14 150,000
< 20,040
&2 75,000
Al 54,960
OWFO0IMNIDE BE=(UHEM, 22,2
SEE) 300,000,000 » 14! 300,000
= 40,080
& 150,000
Al 109,920
O (HE ™) 300,000,000 » 14! 300,000
= 40,080
= 150,000
Al 109,920
OUEAMN sd HetE =
200,000,000& 14! 200,000
= 26,720
= 100,000
Al 73,280
gE22dg 213,109 161,634 51,475
S=2H2I XA 213,109 161,634 51,475
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bH < Xt 40,0003 x4E ~ 123 1,920
FINE 20,0002 x4 128 960
OsZ0Ist (S0l=2t& X 22) 87,493
-Jlzs 1,087,430 »2& « 123 26,099
=g 1,663, 380& 22 x200% 6,654
-d32=g 1,663,380 »2H «180% 5,989
M= | 1,663, 3803 22 x250% 8,317
-tE=g 3,360
BH <= Xt 40,0003 x2E x 128 960
P 20,0003 x5« 122 1,200

SAIE (SO 01 &)

50,0002 x2&H x 128 1,200
Sx=gfsg 90,000& x2H « 122 2,160
-HgE¥esd 70,0002 #2& x 128 1,680
- A 54| 160,000 2& »12& 3,840
AN ] 110,000& »2H « 122 2,640
- s2 x| 140,000 2& 123 3,360
-FES0H| 1,663,380& »2H 150% 4,991
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